Program 1.1 Power.odc

Model B: Prior and likelihood coding
Model

{


for (i in 1 : N) {



lambda[i] ~ dgamma(alpha, beta)



theta[i] <- lambda[i] * E[i]



y[i] ~ dpois(theta[i])

}


alpha ~ dexp(1)

beta ~ dgamma(0.1, 1.0)


}

B: Inits


list(alpha=1,beta=1)

A and B: data


list(E = c(94.3, 15.7, 62.9, 126, 5.24, 31.4, 1.05, 1.05, 2.1, 10.5),


     y = c(     5,      1,      5,   14,      3,    19,      1,       1,    4,    22), N = 10)

Output:

     
node
 mean
 sd
 MC error
2.5%
median
97.5%
start
sample


alpha
0.6922
0.2642
0.01444
0.2986
0.6442
1.342
1001
1000


beta
0.9301
0.5498
0.02954
0.1864
0.8518
2.28
1001
1000


lambda[1]
0.05928
0.02521
8.073E-4
0.0206
0.05517
0.1197
1001
1000


lambda[2]
0.09994
0.07535
0.002759
0.007173
0.08192
0.3051
1001
1000


lambda[3]
0.08868
0.03812
0.001307
0.03056
0.08325
0.1804
1001
1000


lambda[4]
0.1161
0.03169
9.349E-4
0.06509
0.1129
0.1904
1001
1000


lambda[5]
0.5974
0.3333
0.01431
0.1458
0.5296
1.398
1001
1000


lambda[6]
0.6026
0.1363
0.004635
0.3825
0.5936
0.9015
1001
1000


lambda[7]
0.9059
0.7322
0.02253
0.08242
0.7118
2.832
1001
1000


lambda[8]
0.8767
0.6935
0.02714
0.07072
0.6983
2.63
1001
1000


lambda[9]
1.578
0.7369
0.02195
0.4871
1.469
3.351
1001
1000


lambda[10]1.989
0.4236
0.0124
1.249
1.981
2.916
1001
1000


theta[1]
5.59
2.377
0.07613
1.942
5.203
11.29
1001
1000


theta[2]
1.569
1.183
0.04332
0.1126
1.286
4.789
1001
1000


theta[3]
5.578
2.398
0.08219
1.922
5.236
11.35
1001
1000


theta[4]
14.63
3.993
0.1178
8.201
14.22
23.99
1001
1000


theta[5]
3.131
1.746
0.07498
0.7639
2.775
7.324
1001
1000


theta[6]
18.92
4.281
0.1455
12.01
18.64
28.31
1001
1000


theta[7]
0.9512
0.7688
0.02365
0.08654
0.7474
2.973
1001
1000


theta[8]
0.9205
0.7282
0.02849
0.07426
0.7332
2.762
1001
1000


theta[9]
3.314
1.547
0.0461
1.023
3.084
7.038
1001
1000


theta[10]
20.88
4.448
0.1302
13.12
20.8
30.62
1001
1000

